0001946093508999

&0 LiEYAXY 0—eo

2014 1 T (fE2R) 2B 4R

4| ROEZEMHZ L >TEDONDHH {a,} i 3.

Anlpi1

d]z I3
28y — Qnt1 t+ 2anan4

1
o azzg, Up+2 —

1, 2, 3, +)

L ences, xomoeena L.
i1

(1) b;q+2 fi‘—: bn~|—1 g bn %}—HL‘\’CE_@.

(2) cp=bppy — by & BLEE, B {c,} D—f1E% KD &

(1) 2BffC 0 Bil FH s ¢3.¢. (@nto70 )
i

L / .
bnt2 " fatr T @n e “éh”':zén“kén-h?/
/d
/ [
() Cpei = Cnv2 &0} 12 %028 Cozba-b1= m g, = !

LE 20 BZEHI) 7o, Cn= [+2(n-1) = 20~

»

G pei=hn= 2n=1 £

n—{
i :(g; 2k-1)+ 4,

e
2

e

2-(n=1) n -(n-1) + 2
= nz-}‘q —-n-f?
= g dh * 3 SRRzl QsFEMNIVLD

/

An = —

p2-2nt3

V4




